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-' inister
_How to administe

What do you need?

= A quiet, well-lit place 1o sit F
m A stock of pencils. HB penci
multiple-choice papers.

A pencil sharpener and an eraser.
Blank paper for rough working.

A clock or timer.

Calculators are not allowed.

he test.
|s are best for

Before you start

Try to provide a calm yet formal atmos
your child can take the test. It is Impo
recreate the real test as closely as possible, so Iy 10
ensure your child has an appropriate work space and
no distractions. Choose a time to do a test when your
child is rested and relaxed.

Muitiple-choice tests ask children to mark their answers
in a separate answer booklet. Therefore, when read;rjg
the front page of the test paper with your child, point
out the importance of answering carefully and rubbing
out any altered answers clearly. (Read the section
below for details of common pitfalls that can occur
when using multiple-choice answer booklets.) Ensure
that enough rough paper is available for working out
answers; they should not use the empty space on the
paper for workings.

Allow 50 minutes per test. On average, they will have
one minute to answer each question, so encourage
them to move on from questions they are stuck on
before too much time is wasted. Your child may find it
helpful to put a cross in pencil by questions that have
been missed out so that they can be quickly spotted
later on. Remind them that they can always go back
at the end if they have time left. Finish reading the
instructions together before you ‘start the clock’.

When the fime is up they should stop writing. If they
have not finished, draw a line at the point they have
reached. You can always allow them to continue
after the time to get more practice, or else leave the
remaining questions for another time. Encourage
them fo think about whether they should try to speed
up, or to work more carefully, depending on how they
finish the paper.

phere in which
rtant that you

Using the multiple-choice answer
 Ifyour child s sitting a multiple-choice examtis crucial
- they understand how to use the answer booklet
Spend time examining the booklet together.
through it explain that muftiple-choice
e usually scored by computer rather

the tests
the tests

Marking and feedback

panlcking them, but SO thad

t
wiliof what they should / should e

gxactly
- o outside the box. To record an a
g Mslr:a’??i ould be made through the ¢
af the relevant answer box. The hne- .
O porder of the box s that it can ba y

within the
accurately by the computer.

child )
understand

ne sh

ut an answer. If your child
heir mind they must never cross
gzxg; itn a multiple-choice booklet. It
fully rubbed out and then the new answer
pe clearly marked -m the appropriate box,
mark is left in the first box, the computer
read two answers for that question and |

response as incorrect.

Marking an answer in the wrong grid.
grids often look the same on muitiple-choice
answer sheets SO it is easy to mark an a

the wrong grid, which can have a knock-c
tor all successive answers. Encourage you
to check that the guestion number of the
matches the question they are answering
they make each mark. They should also
extra care if they decide to miss out a gu

return fo later.

Not pressing hard enough. If 2 mark is too lic
it may not be recognised by the comp
the guestion could be marked wrong.
your child that each answer needs ta be o
clearly. We would suggest practising with
pencils as they tend fo make the clear
If your child has to provide their own pe
the actual test, make sure they take one
HB pencils with them.

Ccrossing ©

The answers that follow should be given
unless otherwise indicated. Do not take n
for wrong answers, but do not award half
will end up with a score out of 50. Doubls
to get a percentage out of 100. 43/50
target score of 85% (see ‘The secrets of 1
in maths’ booklet).

After marking, follow these steps:

® Go over any incorrect answers. A
incorrect answers so that your child
went wrong. To help with this process,
answer in these test papers is explaine

Do 11* Maths so your child can re
about the related topic and complete
practice questions if needed.

Use the Next Steps Planner inside tt
cover. This will provide a plan for wt
when a test has been marked.



Test 1
‘9‘)'5;21 Answer ‘ 1 !
1 C 457.9 + 1000 = 0.4579. Every digit moves three positions to the right. B1
2 B 285.9 is rounded up to 290. £ .
3 Cc The angles inside a triangle add up to 180°. B18
Therefore  56° + 23° = 79°
180° — 79° = 101°
(& 25000 — 18 789 = 6211 i
5 E The letter H also has two lines of symmetry. S
6 & 6 represents 6 hundred thousand. =
8 represents millions, 6 represents hundred thousands, 9 represents ten thousands, 7 represents
thousands, 5 represents hundreds, 4 represents tens and 1 represents units.
T e The numbers 42 (7 X 6), 60 (10 X 6) and 90 (15 X 6) are all in the 6 times table. A3B3
8 C Aimee's dad's birthday is on a Wednesday (2™ April). In a leap year, February has 29 days. B4
9 B t=2(4%9) +8 B8
= 2X36 +8
= 72 +8
t= 80
10 = The triangular prism is the odd one out because it is the only shape with parallel lines. B21
11-—128E The largest area is 15 cm X 14 cm = 210 cm? 320
B The shortest perimeter is 17 cm + 17 cm + 9 cm + 9 cm = 52 cm 820
13 E 1 litre = 13 pints B25
4 X 13 pints = 7 pints
: 24 1§ 13 9 e/\4
15 {D This is the net of a cylinder. B21
16 |E | Volume = length X width x height 822
; ~ |6om X 6cem X 6em = 216 cm? 7 7
17 je | 3 =¥ B
) t@ge R S R T fraquently inaset @f dam
‘mode is stzsg as it appears 6 times.




The radius is a straight line from the middle of a circle to the outside edge
=Bl
23 & Reverse the problem
39 + 183=72,72 +6= 12
[ =
24 D Range = highest value — lowest value
= 136 ~ 132
=4 +
25-26 | D 1116 apples = 12 apples per bag = 93 bags : , -
P : in I
E Assuming that all the bags are sold as part of the ‘buy 2 get 1 free’ offer, the customer is paying £6 per 31
bags. ‘
93 bags <+ 3 = 31
| 31 X £6 = £180
27 8 1 tonne = 1000 kilograms
SO 6.25 tonnes = 6250 kilograms
6250 kilograms + 500 kilograms = 12.5, which means the truck had 1o be loaded 13 times.
28 E 2.86 m = 286 cm 286 cm = 13 girls = 22 cm each
29 D S0 divided by 125 = 0.4 (or & or2)
50 pengils = £ (amount given out by Nazar)
75 pencils are left in the box = 2
30 & 23+05=235
31 A PHIPE £ 5% = -5°C
32 B 4+ 62 =52
16 + 2=52 "
16 + 36 = 52 V36 =6 :
?3 Shape D is the only shape that has one angle larger than 90°.







£7.07 + £2.45 = £9.52 (cost of shopping and magazine)
£10.00 — £9.52 = £0.48 (change from £10.00)

{EEE) S (=15) (= 18) (18]
54 ~39 24 "9

' The arch lines in this shape are parallel, as they are an egual distance
gontinued on.

Tara and Tim read 14 books. Amy read 3 this amount.
3 of 14 = 2 books s0 3 = 6 books.

The total of books read by Green group is found by adding allr
(including Amy's): 10 + 12 + 4 + 16 + 6 = 48 books
The average is found by dividing 48 books by 5 chﬂmen =

in Term 1, the group had read 48 books. An incre
books than in the previous term, therefore Tara must |
books in Term 2.

6h x 60min = 360 min
Smin + 20min + 360min = 885min
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g Angaer |
e s ’ R ]
40 D | Forevery 7 chidren, 2 are brown-eyed. There ¢ 7 chi e : B
;BMmaehwrem.maeW,m‘XTmnmm'mzx‘“a om
4142 D | Congruent shapes are identical to each other but i
| congruent to Shape D. are pasiioned in different directions. Shape F s
B ¥ a
8 B23
i
7 T T . 3 ?
6 ]
: 5 4t es
L a 1 ? \
)< 3 - 4; : i
| 2 4 | | 1 '
: ﬁ ! 1 L
. 1 !
| | 4 S |
D N O G I I
0 1 2 3 45678 9x
110 guests X 15g = 1650 g
2300g — 1650g = 6509
4446 | C 19 children were silent for 21-30 minutes. B14
E 3 children (1-10 minutes) B14
+ 9 children (11-20 minutes)
‘ + 19 children (21-30 minutes) = 31 children
| D 16 children (31-40 minutes) + 11 children (41-50 minutes) = 27 children who were silent for more than 814
| 30 minutes.
i 27 children X £3.50 = £94.50
a7 [Cc | 29.72is90% ot original price 812
i 1%: £9.72 + 90 = £0.108
100%: £Q.1(Bx1m=£10.80
48 D 1oz=30gsoboz=150g B25
a8 |C | Median = middie valve of the data \ B15
Aﬂaﬂmet‘lmarelaidommm11.7sisthetimetha(isioundinthemodd!eofthedata,
50 D The angles around a point add up 1o 380", B17
Therefore 83° + ¢ = 360°
83° + 277° = 3607
Test 3
1 D 20 221 222 223 224 225 226 227 228 229 23 B11
2 |B Square numbers = 1, 4,9 (3. 16, 25, 36 (6) 86
s o B24
a |c | @ +a-=c B8
@2%x12) +7 =¢
24 +7 =31
5 |A A decade = 10 years B4
lftheﬁrstyearisaleapyear.therearemeapyearsinthedecade.
(3 x 366 days) + (7 X 365 days) = 3653 days .
6 D 5X35=175 B3
4 X 38 = 152
2X42= 84
1X25= 25
Total = 436 children i
7 |B Theleftsidaequa!saoz,therightsideequalsaog+? | B25
3 0z = 90 g therefore the missing weight is 10 g. !




Qmor" Answer s
8 & Median = middle value of the data _ : : i
After these weights are put in order 29g and 31g are found in the middle of the data; the middle value is
halfway between these weights, therefore 30g is the median A
9 D Sequence = 1,7, 8, 15, 23, 38 —
10-11 | B This line is the mirror line for the two shapes as they are a direct reflection of each other.
A
R s T
f T e T
£ _,%,
il P O . |
0 |
6 5 48240 2 3 4 5 6x
NEEEN
Coordinate of point S is (=6, 1). d
12 C =18 el
a+b=4b-b Z
a+9=4x9-9
a+9=3-9
a+9=27 -
18 + 9 = 27 .
13 D The factors of 36 are 1, 2, 3, 4, 6,9, 12, 18 and 36 . ;_
14 e 2:7is same as ratio 1:3.5 N
Therefore there are 3.5 times more dogs ST
i.e. 18 cats X 3.5 = 63 dogs
15 D 89952 is rounded up to 90 000. o e
| 16 D The parallelogram is the odd one out as it is the only shape without perpendicular lines. 7 7' o
17 A Original pnce = £35.00, sale price = £35.00 — 20% .
20% of 35 = x 3B=7
Jeremy paid £35 00 — £7.00 = £28.00 -
" 18 D 8 kllometres = 5 miles so 88 kllometres =~ 55 miles . 7' |
19 ‘ ' Shape B is the correct answer because it is the only shape that has moved 180° about ths.s
e highlighted. : i
20 [Cc [345+23=15 ’ - '
el | .“‘3'45‘ +15=23 -
1 |[B [8isthesameas il +10"10+03'13 P K R
e f _;Ihe angles on a straight line add up to 180°. T
) | Therefore  93° + 69° = 162° . '
] 1807 — 162" = 18° . ST
e — e e ’—?.;:'u—!;f_’*
engtt an;ith X hetght —volume » SRR L.
icm X 3cm X 4cm = 72cm? - -
| = 123n fnums+ 105 seconda B . -l

Ayﬁmubea+455e 1 S
m_gnhméreﬁﬁmmmew '

-
=
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26-27 | E ‘ e»z ler = mdstm\cemm e TN
b ;44L,m~ 15cm + 17em + 15cm+32_cm+12'cm 820 ,
5 | Onewayol# + 29cm + 18em = 182¢m
: e way of fincing the area of this Shape & 10 o’ B L
| The area of each rectangie then 5 1o be b?;’l“'moﬁdangtes, 820 ;
{ 29cm X 18Bom = 522eme nd and the totals added together. e g, |
“ 15cm X mcﬂ"] = 450W
:
i
28 E 12568 + 1000 = 12.569 B1/B11
1ot 12.569 = 6.2845
59 |B Mode = value that occurs most B15
The number3'tsttmwn91imeam
5 1C | Apame number s a whole number thet 86
_ }39_!4___ only has two factors, 1 and itself
31-32 | C Mersham to Tugwest to Danrek to Jutsford B25
1‘ 43 + 109 + 3.67 = 18.87 miles
1 “ 1723 - 891 =832 B25
W ﬁ B21
3 |C | 1000 mililires = 1 lie 50 200 millires = 0.2 ires B25
35 D Reverse the problem. 84
: 50+2=2525-17=88x4=32
36-38 I G Range = highest value — lowest value B15/B14
l =45 - 25
| =20
D On Thursday 30 out of 90 children had packed lunch. This is { of the school therefore § must have had a B14/810
'L_ different kind of lunch.
i B To ﬁndtheaveraga%adgzme 1_tgt‘salnumliverc)@‘pat}itet:i lunches eaten over the week: B14/B3
33 + 45 + 30 + 42 = 175 packed lunches
‘?ge:mwdebythenumbef of days: 175 lunches = 5 days = an average of 35 packed lunches are eaten
each day.
: . B10
38 (B :
1
§%3
* = ' 18 B6
40 A -9 is the lowest number and 9 the highest, therefore the difference IS
41 E 4589 + 100 = 4589 B O - ilies each received 45 items.
B This means that, without dividing any tins or packets, e fa o
2 |p | apae
: 2524700
e o = e R Ty
! 4wee == 1 =S — { 1 s
127 sancwiches per day X 28 days = 3556 sandwiche
45-46 | E 23x £125=E2875 B2
A £4500 — £28.75 = £16.25 ]
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gg,g“"*;" Answer | | | : l 1
47-49 | D The graph shows that at 40 minutes Kyle had travelied approximately 18 miles, therefore < 20 miles s the 1{{
correct answer I
B The graph shows two occasions when time passed but the car moved no distance, once at 29-30 mir
and the other time at 40-43 minutes.
C The graph shows that Kyle travelled approximately 7 miles during this period of time.
E D The time 21 hours 49 minutes needs to be divided into 7 equal parts.
! = 3 hours 7 minutes
2 = 6 hours 14 minutes
Test 4 -
1 = -12°C-7°C = "19°C :
6069 609 =
3 D A perpendicular line is a line drawn at 90°. The two lines that meet at the bottom of the heartshape
perpendicular.
4 1000 grams = 1 kilogram so 350 grams O 35 kumgrams | : .
5 These are the fractions written as equivalent fractions. It makes it easier to compare the
6 7 5 2 1
3 6 6 3Nz
Zorz) Lol 2
6 A £282000—12people=£23500 _ e
7-9 |C ’ “roi
E 15 ewes gave birth to twnn& 7 ewes gaVe bin:h totnplbts 7
| So 15 ewes — 7 ewes = 8 more ewes gav blﬂhtﬁl twins.
D Number of ewes X Numberofiambs - * L T
| 12 X 1 = 12
15 X 2
7 pa i
1 x
125 30 +77217 1—4’
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Reverse the problem. B
7 70 + 11 = 81, the square root 0f 81i59,9 — 6 = 3
D 347644 g rounded to the nearest tenth is 34.6 g . —
The angles around a point add up to 360°. gl
Opposite angles when straight lines cross are the same.
Therefore 122° + 122° = 244°
360° — 244° = 116°
116" + 2 = &58° e
;! _The common factor is 3 therefore 9 : 24 can be written 3 : 8 '8113‘- —
D 8.09 + 15.68 = 23.77 ' Biig
B The new shape made is a rectangle. A rectangle has 2 lines of symmeltry. 524 -
E_|Sequence=8,0,8, 16,24, 32 ' SCH
C Of the areas given, only ablongs with an area of 84 crm?, 75cme or 36 cm? can have a perimeter of 40cm. | 820
6cm 84cm? : =
: et s 2em [ a6om? ]
14cm 15cm 18cm I8
| Ifthe length is 13cm, the width will be 7.cm, giving an area of 91 cm?. L
124 =33+d [P
12x3 =33+3 —
| 1.8 gallons + 1.2 galions = 3 gallons b
| 1 gallon = 8 pints so 3 gallons = 24 pints (T
| There are 118 birds of other types (3 + 47 + 10 + 15 + 43 = 118). L
150 birds were surveyed. |
150 birds — 118 birds = 32 birds —
| 150 birds = 100% therefore 15 birds = 10% ——
[ 50% of 150 birds = 76 birds _ .
The total of the sparrows (32 birds) and the robins (43 birds) equals 75 birds. =
B it
y2<6Xx6—8 o
y2 <28 '
(B2 =128 1
25<28 e S 2 Ay
’ the other values gives an answer greater than 28 when squared sOy =5 :
| ‘, ) ' L
) .: TR 1Y LI i -
; L. . o
Lk -
- .
F=
=1
‘ -FI.I. 1l ,-.I 1 :
. r .
= "
1 b |
BRI . 1) ais
] o - .



